1.

Name of work -

Situation of work -

Agency by which work is executed -

Date of measurement -

No. and date of agreement.

(These four lines should be repeated at the commencement of the measurements relating to each work).

or the measure	Details	of actu	al meas	urement	Contents
Particulars	No.	L.	B.	D.	of area
1/2 0			0 1 1		
Name of		1		ň	
pa	chble	riya	Daks	inse	
		(/	aschi		
Agency:	- pas	anto	constru	stien	
	rivate	Limi	ter R	mgar	ele
		131	change	,	
			1	- 1	
Agg No-	04.	SBDA	2023	-24	
Date of	work	orde	1-	5-09	23
Date of a	mpled	2 m	- bb	grand)	
The state of the s			SAME !		
Date of	entery!	- 04	-03-27	/	
0-076	widing	and A	nina e	£	
100	0				1.468kim
			mark	Mer	1.33 133
(II)	Refer	met p	ellos		1.468 K·m
1 0 d	earing	and (	prulb	ing	T-L-S
700	oel le	nel			
100			1 × 2.0	v =	1200.00m
			1χ 2		1200.00m
			× 2.		1200.00m
-					1200.00 M
	2 × 10	X 30	, X 4	120	960.00 m2
	248	X 30	m x 2	7	960.00 m2
	2 1/	× 28	m×2	.005	112.00 m
		negative d	र स्थान	7	5872.00 m
				=0.5	87 Heet
	Ç	ontinu	ation		

Sch.XLV					
Particulars	Deta		tual me	asure	Contents
Se sittlera-	No.	L.	В.	D.	of area
2	X154	30 p	X 0.1	00 =	90.00m2
2	x15x	30 m	X 0. 1	00 =	90.00 m2
2	x 15 x	30 m	x 0.1	50 =	90.00m2
2	XIX	15 m	X 0.	100 =	3: wom2
· W				1,	273.00 m2
(35)	ronidi	ng Ru	mble	Strips	
1	Umin	0	1		
/_ O	2 Mbx	15.00 p	1×375×	:0.25=	28.13m2
	Road				
0-	2 No x	15.00	2375	X0.25=	28·13 m <sup>2</sup>
_ (36) P	lantin	g of	Trees	and	
7936	the by	the:	road 9	side	102.00 Nb
		37 X	ores ly	10	Consider the last
( SF)	. 1	-			
	ronidir Lifica	2			
V 1.	1-9 597	S . S . 1	1		1.00140
( (Gg)	rould	ng one	1 Ani	ng of	
	typica	Imm	лѕулт	Pozmot	
100	My Sig	in boo	and Wh	th begg	22.26.00
N 1812 N	LegoIne	471	cutien	1 & 1 =	_ 2.00 No
The same	ilizo	1 h	rmator	'; l	- 2:00 No 1:00 140
	munt	mone	Boar	d   1	5.00.140
39		1 - M	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	Alica A	
	aintry	TWO C te sus		Now	
2	X2X	Section 10	1 × 3 4	30m=	84.38m2
Mary 2		The state of			The second second
30-04-2	1 c	1 115	ation	4	- 5
9 7.0	with p	V.	30104 A	-	

## ABSTRACT OF COST

Sch.XLV-Form No. 134
Particulars Details of actual measure Contents
B. D. of area
- 59 promising selling out
Riller
aly ride IMBP (1)
1-468 Km 0 pg 5198 17/km 7631.00
Refrence piller
The state of the s
1468 Kmerg 2442.98/Km 3586.00
To clearing and corrubting
- wal lend-
- Of inde ImBPD
0.587 Had opg 72697.96/Hect 42674.00
62 Dismantaling of existing
Structure -
TmB (2)
24.75 m @ Rg 314.04/m = 77.72.00
24.75 m @ Ry 314.04/m = 7772.00
24.75 m @ Rg 314.04/m = 7772.00 (43) Dismentaling of structure Like Culvert Bridge -
24.75 m @ Rg 314.04/m = 7772.00  (43) Dismentaling of structure  Live culvert Bridge -  Aty ride TMBP 2
24.75 m @ Pg 314.04/m = 7772.00  (63) Dismentaling of structure  Like Culvert Bridge -  Oty ride TmB P 2)  1.83 m 2 Pg 6 52.07/m= Pg 1193.00
24.75 m @ Rg 314.04/m = 7772.00  (63) Dismentaling of structure  Live Culvert Bridge -  Oty ride TmB P 2)  1.83 m @ Rg 652.07/m=B 1193.00  (31) Earth World in executation
24.75 m @ Ry 314.04/m = 7772.00  (63) Dismentaling of structure  Like Culvert Bridge -  Oty ride TMBP (2)  1.83 m @ Ry 652.07/m = By 1193.00  (31) Easth world in excavation  For foundation -
24.75 m @ Rg 314.04/m = 7772.00  (63) Dismentaling of structure  Live Culvert Bridge -  Oty ride TmB P 2)  1. 83 m @ Rg 652.07/m=B 1193.00  (31) Easth world in executation  Les foundation -  Oty ride TmB P 2)
24.75 m @ Rg 314.04/m = 7772.00  (63) Dismentaling of structure  Live Culvert Bridge -  Oty ride TmB P 2)  1. 83 m @ Rg 652.07/m=B 1193.00  (31) Easth world in executation  Les foundation -  Oty ride TmB P 2)
24.75 m @ Rg 314.04/m = 7772.00  (63) Dismentaling of structure  Live Culvert Bridge -  Chy ride TmBP (2)  1.83 m @ Rg 652.07/m= Rg 1193.00  (31) Easth world in excavation  As hundation -  Chy ride TmBP (2)  160.00 m @ Rg 383.28/m= Bg 61325.00
24.75 m @ Rg 314.04/m = 7772.00  (63) Dismentaling of structure  Live Culvert pridge -  (hy ride Tm & P 2)  1.83 m @ Rg 652.07/m= Rg 1193.00  (31) Easth world in excavation  for hundation -  (hy ride Tm & P 2)  160.00 m @ Rg 383.28/m= 28 61325.00  (62) plain coment concrete pre
24.75 m @ Ry 314.04/m = 777200  (63) Dismentaling of structure  Like Culvert Bridge -  Oty ride TMB P D  1.83 m @ Ry 6 52.07/m = By 1193.00  (31) Easth World in excavatam  Les foundation -  Oty ride TmB P D  160.00 m @ Ry 383.28/m = By 61325.00  (92) Plain Coment Concrete pre  11.2515) in leveling case
24.75 m @ Pg 314.04/m = 777200  (63) Dismentaling of structure  Like Culvert Bridge -  City ride TmB P D  1.83 m @ Pg 652.07/m = Pg 1193.00  (51) Easth world in excavation  For foundation -  Coty ride TmB P D  160.00 m @ Pg 383.28/m = Pg 61325.00  (62) Plain coment concrete per  11:25:5) indeveling case  City ride TmB P (3)
24.75 m @ Rg 314.04/m = 77.72.00  (63) Dismontaling of structure  Like Culvert Bridge -  Oty ride TmB P 2)  1. 83 m @ Rg 6 52.07/m = By 1193.00  (31) Easth world in excavation  Les bundation -  Oty ride TmB P 2)  160.00 m @ Rg 383.28/m = B 61325.00  (92) plain coment concrete pre  My ride TmB P (3)  1332 m @ Rg 8462.40/m = 112719.00
24.75 m @ Pg 314.04/m = 777200  (63) Dismentaling of structure  Like Culvert Bridge -  City ride TmB P D  1.83 m @ Pg 652.07/m = Pg 1193.00  (51) Easth world in excavation  For foundation -  Coty ride TmB P D  160.00 m @ Pg 383.28/m = Pg 61325.00  (62) Plain coment concrete per  11:25:5) indeveling case  City ride TmB P (3)

Sch.XLV-Form No. 134 Details of actual measure Contents **Particulars** of area Read marking with police Thermoplaskick y ride Im 8556.00 Cry 825.75 m = 23224.00 1230,09/each = 125469.00 mnusyalanbore 2305.90/earl=61530.cz 38 COP8 13 52450214 Continuation William was personal

_Sch.XLV					-
Particulars	Deta No.	ils of ac	tual me	D.	Contents of area
(138)	140.	L.	В.	D.	or drea
- (95/ F	cinti	ma Tu	o Coa	3 Non	1
		0	. 9		May and
		te Sur			
	i nde	TMB	P (16)		
11		1		2	105 1000
	ח פכיד	16191	27.28/	m= B8	10740,00
1			5 Pg	1352	5242.0
المام	abo. D.	1116	1%(t)		
					52.00
Add	U.S.T	0 18	/· (+)	2436	344.00
	and the same of				
	S.F	(+)	PS	1035	57.00
100		C. HAR	-138	162	90495.0
1014	10%0	sper.	•	Control of the Contro	
	( ,	1	9	1629	050.00
_	i wan	1	5 8	1,46	614450
	(10)	Contract of	/	9	1 (0
	-	The boundary	addition to	The same of the sa	
Mamaz	4	0. 1	1	And Street	
Namar	4	Mile	100020	10	
Namar 30 ou	4	Mily	1000	,	
Mamar 30 or	4	alada E	104/2	,	
Manuar Zo our	9	المنال	104/20	,	
Manua 30 our	9	Dolor B	10A 22	7	
Manuar Books	4	Dieder S	104/20		
Mamar 30 our	4	alandar B	1 104 22	7	
Namen 30 or	Y	Andrew Services	10 P 22		
Mamar 30 our	Y	Andrew S	10 F 22	2. L. Q. L.	
Namen Books	Y I	July 8	104 P	u. b.	
Mamar 30 our		Andrew Services	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	13 12	
A Survey		J. (-1)	104 P	13 12	
Mamar Books		And B	1 31 - 1 - 31 - 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Janar J.		Andrew Coly	1 30:	1100 MARINE 1100 M	
Januar J.	in the second	July 8	1 11 2	13 hi	
Namer Books	1/2	Andrew Street	1 30: - 31 - 1 30: - 31 - 31 - 31 - 31 - 31 - 31 - 31 - 31	13 h	
Manura Boote		July S	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	13 11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Mamar Books		Andrew Street	1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1	13 h	
A Solver		District of the second of the	101 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	11.27 11.27 11.45 11.45 11.45 11.45	
Namen Books		William Colonia Coloni	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	11.27 11.27 11.25 11.55 11.55	
Namura Boots		And the second s	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	11.77 11.37 11.59 11.40 11.40 11.40 11.40	
Alamar 30 our		And the second s	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Names 30 our		District to the second	1000 - 31 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	13 12 13 14 15 15 15 15 15 15 15 15 15 15 15 15 15	
A Solver		Dring Strain Str	101 20 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1. 27 1. 27	



## INDIA NON JUDICIAL Government of Bihar



e-Stamp

Certificate No.

IN-BR-2300915333

Certificate Issue Date

22-Sep-2023 03:16 PM

GRN No.

BHR20230900454092E

Unique Doc Reference

: EST-BR-4600-2300030724

Party Name

PARAMBA CON.PVT

Purchased by

: PARAMBA CON.PVT

Purpose

: NA Article no (NA)

Stamp Duty Paid (Rs.)

Reg. Fee (Rs.)

1000 (One Thousand Only)

0 (Zero Only)

LLR & P Fcc (Rs.)

: 0 (Zero Only)

Miscellaneous Fee (Rs.) Discore SC (Rs.)

0 (Zero Only) : 0 (Zero Only)

Total Amount (Rs.)

: 1000 (One Thousand Only)

Agreement No 04SBD/2623-24

Date. 25.09.1023

This agreement ,made the 25th day of September 2023 , Between EXECUTIVE ENGINEER. RURAL WORKS DEPARTMENT, WORKS DIVISION, RAXAUL [name and address of Employer] (hereinafter called "the Employer") of the one part, and Paramba Construction Private Limited Bid-543114 Ramgarhwa, Distt- East Champaran, Bihar-845433 [name and address of Contractor] (hereinafter called "the Contractor" of the other part). Whereas the Employer is desirous that the Contractor execute MMGSY-NDB-BRRP-506-RAXAUL (Tender ID-124907) [name and identification number of contract ] (hereinafter called "the Works") and thereafter undertake routine maintenance for five years; and the Employer has accepted the Bid by the Contractor for the execution and completion of such Works and the remedying of any defects and routine maintenance therein at a cost of Rs. 9,08,74,828.00 (Rupees Nine Crore Eight Lakh Seventy Four Thousand Eight Hundred & Twenty Eight Only)



1. The authenticity of this Stamp certificate should be verified at https://enibandhan.bihar.gov.in or using emb Any discrepancy in the details on this Certificate and as available on the website/Mobile App renders it in discrepancy

2. The onus of checking the legitimacy is on the users of the certificate.

3. In case of any discrepancy please inform the Competent Authority.

Paramba Construction Pyt. Ltd. Director

## NOW THIS AGREEMENT WITNESSETH as follows:

- In the Agreement ,words and expression shall have same meaning as are respectively assigned to them in the Conditions of Contract hereinafter referred to , and they shall be deemed to form and be read and construed as part of this Agreement.
- 2. In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the works and remedy and defects therein in conformity in all aspects with previsions of the Contract and undertaking routine maintenance for five years.
- 3. The Employer hereby covenants to pay the Contractor in consideration of the execution and completion of the Works and the remedying the defects wherein and undertaking routine maintenance for five years, the Contract Price or such other sum as may become payable under the provisions of the Contract at the times and in the manner prescribed by the Contract.
- There are following documents shall be deemed to form and read and construed as part of this Agreement, viz:
  - Latter of Acceptance;
  - ii) Notice of proceed with the works;
  - iii) Contractor's Bid
  - iv) Contract Data;
  - v) Special Conditions of Contract and General Conditions of Contract;
  - vi) Specifications;
  - vii) Drawings;
  - viii) Bill of Quantities; and
  - ix) Any other documents listed in the Contract Data as forming part of the contract.

In witness whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

The Common seal of

Was hereunto affixed in the presence of:

Signed, Sealed and Delivered by the said

In the presence of:

Dinding Signeture of Contractor

Binding Signature of Contractor

Paramba Construction Pyt. Ltd.

Paramba Construction Provided, Ramgarhwa, East Champaran Bihar-845433.

Binding Signature of Employer

Executive Engineer, Rural Works Department, Works Division, Raxaul.

15-9.23

